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�D> D>5>FG 6<F?>6>->><G=4?L=<E 
?V4?D<T<EF6 <VEF4 6 >?4?N64?L=<= 
?5DV>4 2023-2024 D>>V6 F4 74644==O 
?> WE ?V47>F>6FV 4> =4EFG?=>7> 
>?4?N64?L=>7> ?5DV>4G 
 

 �4 6<>>=4==O 6?4E=<E ?>6=>6465=L, 747=4G5=<E 6 ?.?.1 ?. 4 EF.30 �4>>=G 
'>D4W=< «�D> <VEF565 E4<>6DO4G64==O 6 '>D4W=V», 6V4?>6V4=> 4> EF.7 �4>>=G 
'>D4W=< «�D> 6<F?>6>->><G=4?L=V ?>E?G7<», «�D46<? ?V47>F>6>< F5??>6<E 
7>E?>44DEF6 4> >?4?N64?L=>7> ?5DV>4G», 74F65D465=<E =4>47>< �V=VEF5DEF64 
?4?<64 F4 5=5D75F<>< '>D4W=< 7 620/378 6V4 10.12.2008D., 74E?GE46L< 
V=D>D<4FVN ?D> D>5>FG 6<F?>6>->><G=4?L=<E ?V4?D<T<EF6 <VEF4 6 
>?4?N64?L=<= ?5DV>4 2023-2024 D>>V6 F4 =4<VG5=V 74E>4< ?> WE ?V47>F>6FV 4> 
=4EFG?=>7> >?4?N64?L=>7> ?5DV>4G, 6<>>=46G<= >><VF5F �>DVL=L>??46=V6EL>>W 
<VEL>>W D44< �D5<5=GGFL>>7> D4=>=G �>?F46EL>>W >5?4EFV 

��$�,��: 
1. �=D>D<4FVN ?D> D>5>FG 6<F?>6>->><G=4?L=<E ?V4?D<T<EF6 <VEF4 6 

>?4?N64?L=<= ?5DV>4 2023-2024 D>>V6 67OF< 4> 6V4><4 (4>44TFLEO). 
2. �4F65D4<F< 74E>4< ?> ?V47>F>6FV 6<F?>6>-5>E??G4F4FV==<E V 

>><G=4?L=<E ?V4?D<T<EF6 4> D>5>F< 6 >?4?N64?L=<= ?5DV>4 2024-2025 D>>V6 
77V4=> 7 4>44F>><. 

3. �5DV6=<>4< 6<F?>6>-5>E??G4F4FV==<E ?V4?D<T<EF6 <VEF4 (6 F><G 
G<E?V �%�� F4 6V4><G>7> 6<F?>6>7> D>=4G) F4 >59T>FV6 5N465F=>W ED5D<: 

3.1. %F6>D<F< >><VEVW 7 ?5D56VD>< 7>F>6=>EFV 7>E?>44DEF6 4> D>5>F< 6 
>?4?N64?L=<= ?5DV>4 4> 01.06.2024. �> E>?44G >><VEV= 6>?NG<F< D4EV6FV6 
��� «&�» <. �>DVL=V �?46=V», ?D54EF46=<>4 E5>F>DG GFD<<4==O 5G4<=>V6 V 
?D<5G4<=>>6>W F5D<F>DVW 45?4DF4<5=FG ��� �>DVL=L>??46=V6EL>>W <VEL>>W D44< 
�D5<5=GGFL>>7> D4=>=G �>?F46EL>>W >5?4EFV; 

3.2. �5D56VD>G 7 >D>D<?5==O< ?4E?>DFV6 7>F>6=>EFV 6<>>=4F<: 
- >59T>FV6 5N465F=>W ED5D< 4> 01.09.2024; 
- 6<F?>6>7> D>=4G 4> 01.10.2024. 
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3.3. �D< ?V47>F>6FV 6<F?>6>7> D>=4G V >59T>FV6 5N465F=>W ED5D< 
6<>>=4F<: 

- 7V4D46?VG=V 6<?D>5G64==O F5??>6<E <5D56 4> 01.08.2024; 
- ?D><<64==O E<EF5< >?4?5==O 77V4=> 7 7D4DV>4<< 4> 

01.09.2024; 
- ?5D56VD>G 65=F<?OFV==<E >4=4?V6 4> 01.09.2024. 

3.4. �=D>D<4FVN ?D> EV4 6<>>=4==O 74E>4V6 ?> ?V47>F>6FV 4> D>5>F< 6 
>?4?N64?L=<= ?5DV>4 2024-2025 D>>V6 =44464F< 4> �5?4DF4<5=FG 6<F?>6>-
>><G=4?L=>7> 7>E?>44DEF64 �>DVL=L>??46=V6EL>>W <VEL>>W D44< �>?F46EL>>W 
>5?4EFV (>45.100-5 F4 100-6 45> =4 5?5>FD>==G 44D5EG jkg_plavni@ukr.net) EF4=>< 
=4 10 F4 25 G<E?> >>6=>7> <VEOFO. 

4. �5D56VD>G 7>F>6=>EFV F5??>6<E 7>E?>44DEF6 4> D>5>F< 6 >?4?N64?L=<= 
?5DV>4 2024-2025 D>>V6 74>V=G<F< G F5D<V= =5 ?V7=VL5 25 65D5E=O ?>F>G=>7> 
D>>G. 

5. �5DV6=<>4< ?V4?D<T<EF6 74??4=>64=V 74E>4<, ?>69O74=V V7 6<>>=4==O< 
75<?O=<E D>5VF, 7465DL<F< 4> 10 6>6F=O 2024 D>>G. 

6. �>=FD>?L 74 6<>>=4==O< FL>7> DVL5==O ?>>?4EF< =4 ?5DL>7> 
74EFG?=<>4 <VEL>>7> 7>?>6< 7 ?<F4=L 4VO?L=>EFV 6<>>=46G<E >D74=V6 �?5>E4=4D4 
''�$��'. 
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��$�$��&�/ 
?D> D>5>FG 6<F?>6>->><G=4?L=<E ?V4?D<T<EF6 <VEF4 

6 >?4?N64?L=<= ?5DV>4 2023-2024 D>>V6  
 

�. �D>E>465==O >?4?N64?L=>7> ?5DV>4G 2023-2024 D>>V6 
 
�V4?>6V4=> 4> D>7?>DO465==O <VEL>>7> 7>?>6< 7 229-D 6V4 08.11.2023 

«�D> ?>G4F>> >?4?N64?L=>7> E57>=G 2023-2024 DD.» >?4?5==O <VEF4 
D>7?>G4?>EO 9 ?<EF>?444 2023 D>>G.  
 �465DL5=> >?4?N64?L=<= E57>= 2023-2024 D>>V6 27 55D57=O 2024 D>>G 
6V4?>6V4=> 4> D>7?>DO465==O <VEL>>7> 7>?>6< 6V4 26.03.2024 7 79-D. 
&D<64?VEFL >?4?N64?L=>7> ?5DV>4G E>?4?4 139 4V5, M> =4 >4<=44FOFL 4V5 <5=L5 
=V6 ?>?5D54=V= F4 =4 0,03º% E>?>4=VL<=. 

�464O>< 7?47>465=V= D>5>FV >?5D4F<6=>7> ?5DE>=4?G G?D46?ONG<E 
>><?4=V=, ?D4FV6=<>V6 F5??>?>EF4G4?L=>7> ?V4?D<T<EF64 F4 6EF4=>6?5==N 
E5?4D4F>DV6 6 5G4<=>4E E5DVW ���, 74 4>?><>7>N G>7> D>7?>6VFDN64==O E<EF5< 
>?4?5==O ?D>6>4<?>EO 46F><4F<G=>, 644?>EO 7<5=L<F< F5D<V=< ?>44GV 
F5??>=>EVO 6 >64DF<D<. �4?GE> E<EF5<< F5=FD4?V7>64=>7> >?4?5==O ?> 
6<F?>6><G D>=4G 5G6 6<>>=4=<= ?D>FO7>< 12 7>4<=. $>5>F< ?> 6<44?5==N 
?>6VFDO 7 E<EF5< >?4?5==O F4 D57G?N64==O 6=GFDVL=L> 5G4<=>>6<E <5D56 
FD<64?< ?D>FO7>< 10 4=V6. 

 
�>DV6=O?L=V 44=V >?4?N64?L=<E E57>=V6 2022-2023 F4 2023-2024 D>>V6 

�>>47=<>< 

�?4?N64?L=<= ?5DV>4 �>DV6=O==O 
>?4?N64?L=<E 

?5DV>4V6 2022-2023 
 D>>V6 

2023-2024 
 D>>V6 

&D<64?VEFL >?4?N64?L=>7> 
?5DV>4G 

150 4V5 139 4V5 
-11 4>5<  
(-7,3%) 

%5D54=O F5<?5D4FGD4 
7>6=VL=L>7> ?>6VFDO 

+2,46 >% +2,43 >% -0,03 >% 

�<D>5?5=> F5??>6>W 5=5D7VW 115 943 �>4? 115 830 �>4? 
-113 �>4? 

(-0,1%) 

$V65=L >??4F< =4E5?5==O< 74 ?>E?G7< 7 >?4?5==O 
=4 01.05.2024 (557 =4D4EG64==O 74 >6VF5=L 2024) 

&4D<D =4 F5??>6G 5=5D7VN: 
- 6V4 �&� 
- 6V4 &&� 

 
1949,84 7D= 
1959,17 7D= 

 
1949,84 7D= 
1959,17 7D= 

�57 7<V= 

$V65=L >??4F< 81,7 % 83,6 % +1,9 % 

 
�> ���� 6 >?4?N64?L=<= ?5DV>4 2023-2024 D>>V6 6V4 7D><44O= =44V=L?> 

82 765D=5==O EF>E>6=> ?D>E>465==O >?4?N64?L=>7> ?5DV>4G, 4 E4<5: 
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%D5D4 ?<F4==O 
�V?L>VEFL 
765D=5=L 

�<DVL5=> 
(744>6>?5=>) 

�444=V 6V4?>6V4=V 
D>7´OE=5==O 

&5??>?>EF4G4==O 6 5 1 

�4DOG5 6>4>?>EF4G4==O  7 5 2 

�4D4EG64==O 74 ?>E?G7< 
F5??>-, 6>4>?>EF4G4==O 

23 
1 

(?5D5D4EG=>>) 

22 
(D>7´OE=5==O M>4> 

?D46<?L=>EFV =4D4EG64=L) 

�4557?5G5==O 4D>64<< 46 38 8 

�EL>7> 82 49 33 

 
�V?L>VEFL 765D=5=L G ?>DV6=O==V 7 <<=G?<< >?4?N64?L=<< ?5DV>4>< 

75V?LL<?4EL (82 ?D>F< 38) 74 D4EG=>> 75V?LL5==O >V?L>>EFV 765D=5=L ?D> 
74557?5G5==O 4D>64<< F4 =444==O D>79OE=5=L M>4> =4D4EG64=L =4 74DOG5 
6>4>?>EF4G4==O. 

�65D=5==O M>4> O>>EFV ?>E?G7 >?4?5==O =44E>4OFL ?5D5646=> 6 ?5DV>4 
=>7> 74?GE>G ?D>FO7>< ?5DL<E FDL>E 4V5 ?D< =4?47>465==V E<EF5< >?4?5==O G 
6<F?>6<E 5G4<=>4E. 

�65D=5=L M>4> ?>E<?4==O G< D>7G<EF>< 4>DV7 6V4 E=V7G 6 FL>7>DVG=<= 
7<<>6<= ?5DV>4 =5 =44E>4<?>.  

 
�D>FO7>< >?4?N64?L=>7> ?5DV>4G G ��� «&5??>5=5D7>» <. �>DVL=V 

�?46=V 5G?< 6V4EGF=V 464DV==V E<FG4FVW, O> =4 >>F5?L=OE F4> V =4 F5??>6<E 
<5D564E <VEF4, O>V <>7?< 5 ?D<765EF< 4> ?D<?<=5==O =444==O ?>E?G7 7 
F5=FD4?V7>64=>7> >?4?5==O F4 74DOG>7> 6>4>?>EF4G4==O 5V?LL5 =V6 =4 6 7>4<=. 
�D>F5 6?D>4>66 >?4?N64?L=>7> ?5DV>4G 6V45G?>EO >4=5 G4EF>>65 6V4>?NG5==O 
?>44GV 5?5>FD>5=5D7VW =4 >5'T>F< ?V4?D<T<EF64, O>V 5G?< E?D<G<=5=V 6V=EL>>6>N 
E<FG4FVTN. 'EG=5==O =4E?V4>V6 6V4>?NG5=L 5?5>FD>?>EF4G4==O 6V45G?>EO 
7464O>< EF6>D5==N 464DV==>7> 6<6?5==O =4 >>F5?L=V 15-7> <V>D>D4=>=G, M> 
44?> 7<>7G 74557?5G<F< ?>44GG F5??>=>EVO =4 6<F?>6V 5G4<=>G 6 ?5DV>4 
6V4>?NG5==O 5?5>FD>?>EF4G4==O F4 6 ?>44?LL><G 6 =4=>>D>FLV F5D<V=< 
6V4=>6<F< ?>44GG F5??>6>W 5=5D7VW E?>6<64G4<. 
 � 7<<>6<= ?5DV>4 2023/2024 D>>V6 ?D>4>66G64?<EO D>5>F< V7 
6?D>64465==O ?D>5>FG «$5>>=EFDG>FVO 5G4V6?V F5=FD4?L=>W >?4?N64?L=>W 
>>F5?L=V 7 6EF4=>6?5==O< >>F?4 =4 5V>?4?<6V ?>FG6=VEFN 7 ��F 7V 7<V=>N 
75><5FD<G=<E D>7<VDV6 F4 5G4V6=<FF6> E>?44G ?4?<64 ?> ?D>6G?>G 
�=5D75F<>V6, 31 6 <. �>DVL=V �?46=V �>?F46EL>>W >5?4EFV» V7 74?GG5==O< >>LFV6 
V=>75<=<E V=65EF>DV6 F4 <VEL>>7> 5N465FG. �?D>64465==O ?D>5>FG ?D<76545 4> 
7=<65==O 6<><4V6 %�2 13,4 F/DV> F4 74<VM5==O ?D<D>4=>7> 747G 6534 F<E. <3/DV>. 
�=4G=4 74FD<<>4 6<>>=4==O D>5VF 6V45G?4EO ?> ?D<G<=V 6V=EL>>6>7> EF4=G 6 
>D4W=V, =4D47V D>5>F< FD<64NFL. 
  �?O =4L>7> <VEF4 6 <<=G?><G >?4?N64?L=><G E57>=V 74?<L<?4EL 
E4D4>F5D=>N ?D>5?5<4 6V4E<?5==O 6V4 F5<?5D4FGD=>7> 7D4DV>G 6 ?5DV>4 
«??NE>6<E» F5<?5D4FGD 7>6=VL=L>7> ?>6VFDO, O>4 E?D<G<=5=4 =5>5EV4=VEFN 
?V4FD<<G64F< F5<?5D4FGDG F5??>=>EVO 58-60º% 6 E<EF5<V 4?O ?D<7>FG64==O 
74DOG>W 6>4< =>D<4F<6=>W F5<?5D4FGD<. 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



5 

 �4?<L4NFLEO =57<V==<<< L?OE< 6<DVL5==O FVTW ?D>5?5<<: 
- D>7<56G64==O >?4?5==O V 74DOG>7> 6>4>?>EF4G4==O 74 D4EG=>> �&� V7 

=574?56=>N EE5<>N ?V4>?NG5==O  F4 ?>7>4=<< D57G?N64==O<; 
- 6EF4=>6?5==O F5D<>D57G?OF>DV6 45> FD<E>4>6<E >D4=V6 7 54=?4E4<< =4 

D44V4F>D4E 6 >64DF<D4E E?>6<64GV6.  
 � >?4?N64?L=<= ?5DV>4 2023-2024 D>>V6 5G4<=>< 7 �&�, 6 ?>DV6=O==V 7 
?>4V5=<<< ?> >7>D>46GNG<< >>=EFDG>FVO<, <4?< =4EFG?=V ?>>47=<><: 
 

7 
7/? 

�4D5E4 '?D46<F5?L 
�<F><5 E?>6<64==O 

V 6<FD4F< 74 E57>= 
�>DV6=O==O 
7 ?>4V5=<< 
74 F<?>< �>4?/<2 7D= / <2 

5-?>65DE>6V, F57?O=V (50 5G4. 557 ��&�) 0,0768 149,91  

1 6G?. �>?>4V6=4, 18 ��$�� 71 0,0657 128,00 -14,6 % 

5-?>65DE>6V, ?4=5?L=V (38 5G4. 557 ��&�) 0,0708 138,51  

1 6G?. �>5D>6>?LEL>>7>, 18 �%�� 0,0516 100,55 -27,2 % 

2 6G?. �>5D>6>?LEL>>7>, 29 �%�� 0,0652 127,10 -8,0 % 

5-?>65DE>6V, V7 7/5 5?>>->V<=4F (10 5G4. 557 ��&�) 0,0874 170,36  

1 ?D>E?. �5D>W6 �=V?D4, 18 ��$�� 71 0,0709 138,34 -18,8 % 

9-?>65DE>6V, ?4=5?L=V (3 5G4. 557 ��&�) 0,0710 139,12  

1 6G?. �>5D>6>?LEL>>7>, 87 ���� 74 0,0687 134,64 -3,2 % 

2 ?D>E?. �5D>W6 �=V?D4, 86 ���� 74 0,0773 151,40 +8,8 % 

9-?>65DE>6V, V7 7/5 5?>>V6 (8 5G4. 557 ��&�) 0,0743 145,39  

1 ?D>E?. �5D>W6 �=V?D4, 54 �%�� 0,0616 120,72 -17,1 % 

9-?>65DE>6V, V7 7/5 5?>>->V<=4F (28 5G4. 557 ��&�) 0,0810 158,67  

1 6G?. �>5D>6>?LEL>>7>, 9 �%�� 0,0735 144,11 -9,2 % 

2 6G?. �>5D>6>?LEL>>7>, 59 ���� 74 0,0703 137,67 -13,3 % 

3 ?D>E?. �5D>W6 �=V?D4, 66 ���� 74 0,0639 125,27 -21,1 % 

4 ?D>E?. �5D>W6 �=V?D4, 69 �%�� 0,0732 143,46 -9,6 % 

5 ?D>E?. �5D>W6 �=V?D4, 71 �%�� 0,0736 144,20 -9,2 % 

6 ?D>E?. �5D>W6 �=V?D4, 80 �%�� 0,0711 139,25 -12,2 % 

7 ?D>E?. �5D>W6 �=V?D4, 94 ���� 74 0,0687 134,60 -15,2 % 

9-?>65DE>6V, F57?O=V (18 5G4. 557 ��&�) 0,0730 142,83  

1 6G?. �>5D>6>?LEL>>7>, 81 ���� 74 0,0618 121,07 -15,4 % 

2 ?D>E?. �5D>W6 �=V?D4, 40 �%�� 0,0464 90,38 -36,5 % 

10-?>65DE>6V, F57?O=V (2 5G4. 557 ��&�) 0,0692 135,54  

1 6G?. �>5D>6>?LEL>>7>, 77 �%�� 0,0487 95,34 -29,7 % 

14-?>65DE>6V, F57?O=V (1 5G4. 557 ��&�) 0,0903 176,87  

1 6G?. �>=EF<FGFVW, 22 �%�� 0,0770 150,84 -14,7 % 
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� <><5=FG 74?GE>G >?4?5==O 4> ����V6 =44V=L?> 2653 74O6>< 
?>69O74=<E 7 ?D>5?5<4<< >?4?5==O F4 1961 74O6>4 M>4> 74DOG>7> 
6>4>?>EF4G4==O. �4<V=5=> 6 464DV==><G ?>DO4>G 1612 ?.<. FDG5, 80% V7 O><E F5 
FDG5>?D>6>4< 74DOG>7> 6>4>?>EF4G4==O. �474?>< 74 >?4?N64?L=<= ?5DV>4 5G?> 
6<>>=4=> 464DV==<E D>5VF =4 EG<G  ?>=44 1<?=. 7D=. 

�> ?D<G<=V ?>D<6V6 FDG5>?D>6>4V6, ?>69O74=<E V7 7=4G=<< F5D<V=>< 
5>E??G4F4FVW, ��$�� 7 1 5G6 6<<GL5=<= ?D>6>4<F< 6V4>?NG5==O 
F5??>?>EF4G4==O 4?O GEG=5==O 464DV= =4 5G4<=>< ?> ?D>E?. �5D>W6 �=V?D4, 23, 
49, 55. 

�4 ?V4EG<>4<< >?4?N64?L=>7> ?5DV>4G 2023-2024D.D. <>6=4 7D>5<F< 
6<E=>6>> M>4> =5>5EV4=>EFV 6<>>=4==O >4?VF4?L=<E D5<>=FV6 V=65=5D=<E 
<5D56, >E>5?<6> 74DOG>7> 6>4>?>EF4G4==O V >?4?5==O. 

����4<< 6EF4=>6?5=> DO4 5G4<=>V6, O>V ?>FD55GNFL F5D<V=>6>7> 
>4?VF4?L=>7> D5<>=FG V=65=5D=<E <5D56 =5 6<>>=4==O O><E <>65 ?D<765EF< 4> 
6FD4F< 45O><E ?>E?G7: 

 
?/= �4D5E4 5G4<=>G &5D<V=>64 ?>FD554 6 ?D>6545==V 

6<4G D>5VF 7 >4?VF4?L=>7> D5<>=FG 6 
5G4<=>G 

'?D46<F5?L 

1 �G?. �>?>4V6=4, 4 $5<>=F E<EF5<< >?4?5==O 7 6<=>E>< 
FDG5 7 F5E=VG=>7> >4=4?G 

��$�� 7 1 

2 �G?. �>E<>=46FV6, 21 $5<>=F E<EF5<< >?4?5==O 7 6<=>E>< 
FDG5 7 F5E=VG=>7> >4=4?G 

��$�� 7 1 

3 �G?. �>E<>=46FV6, 10/5 �4<V=4 FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

��$�� 7 1 

4 �G?. �>E<>=46FV6, 3 $5<>=F ?>>DV6?V ��$�� 7 1 

5 �D>E?. �5D>W6 �=V?D4, 23 (1,2 
?V49W74<) 

$5<>=F E<EF5<4 >?4?5==O, 74<V=4 
FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

��$�� 7 1 

6 �D>E?. �5D>W6 �=V?D4, 55 $5<>=F E<EF5<< >?4?5==O  ��$�� 7 1 

7 �D>E?. �5D>W6 �=V?D4, 49 $5<>=F E<EF5<< >?4?5==O ��$�� 7 1 

8 �G?. �VD=<>V6, 1 �4<V=4 FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

��$�� 7 1 

9 �G?. �>5D>6>?LEL>>7>, 22 $5<>=F ?>>DV6?V ��$�� 7 1 

10 �G?. �VD=<>V6, 3 $5<>=F ?>>DV6?V ��$�� 7 1 

11 �G?. �>=EF<FGFVW, 46 �4<V=4 FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

���� 7 4 

12 �G?. �>5D>6>?LEL>>7>, 51 �4<V=4 FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

���� 7 4 

13 �G?. �>5D>6>?LEL>>7>, 59 �4<V=4 FDG5>?D>6>4V6 74DOG>7> F4 
E>?>4=>7>  6>4>?>EF4G4==O 

���� 7 4 

14 �G?. �>5D>6>?LEL>>7>, 83 �4<V=4 FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 

���� 7 4 

15 �D>E?. �5D>W6 �=V?D4, 64 �4<V=4 FDG5>?D>6>4V6 E>?>4=>7> 
6>4>?>EF4G4==O 

���� 7 4 

16 �D>E?. �5D>W6 �=V?D4, 77 �4<V=4 FDG5>?D>6>4V6 74DOG>7> F4 
E>?>4=>7>  6>4>?>EF4G4==O 

���� 7 4 

17 �D>E?. �5D>W6 �=V?D4, 79 �4<V=4 FDG5>?D>6>4V6 74DOG>7> F4 
E>?>4=>7>  6>4>?>EF4G4==O 

���� 7 4 
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$>7D>5?5=> 7D4DV>< ?D>6545==O 75>DV6 V7 E?V66?4E=<>4<< F<E 5G4<=>V6 F4 
665 ?D>6>4OFLEO 75>D<, =4 O><E ?D54EF46=<>< ����V6 =444NFL D>79OE=5==O 
M>4> F5E=VG=>7> EF4=G <5D56 F4 =5>5EV4=>EFV ?D>6545==O >4?VF4?L=>7> 
D5<>=FG. �4 4>L>4E >7>?>L5=L 5G4<=>V6 D>7<VMGNFLEO V=D>D<4FV==V ?<EF<  
M>4> =5>5EV4=>EFV ?D>6545==O >4?VF4?L=<E D5<>=FV6 F4 V=D>D<4FVO M>4> GG4EFV 
E?V66?4E=<>V6 5G4<=>G 6 FL><G ?D>F5EV =4 G<>64E E?V6DV=4=EG64==O. 

�4?VF4?L=<= D5<>=F ?D>?>=GTFLEO 6<>>=G64F< =4 G<>64E 
E?V6DV=4=EG64==O 77V4=> 7 «�D>7D4<>N ?V4FD<<>< E?V66?4E=<>V6 
5474F>>64DF<D=<E 5G4<=>V6 <. �>DVL=V �?46=V =4 2023-2026 D>><». 

�?O FL>7> =5>5EV4=4 5V?LL 4>F<6=4 GG4EFL E?V66?4E=<>V6 5G4<=>V6 6 
GFD<<4==V E?V?L=>7> <4==4. �>6V4><?5==O M>4> =5>5EV4=>EFV 6<>>=4==O 
>4?VF4?L=<E D5<>=FV6 E?V66?4E=<>< 5G4<=>V6 ?>>< M> V7=>DGNFL. 
 
 ' 5N465F=V= ED5DV >?4?N64?L=<= ?5DV>4 ?D>=L>6 EF4?>. %?>6<64==O 
F5??>6>W 5=5D7VW =4 >?4?5==O: 
 

�N465F=V GEF4=>6< 
�?4?N64?L=<= ?5DV>4 

�>DV6=O==O 
2022-2023 2023-2024 

�4>?44< >E6VF< 4 424 �>4? * 4 497 �>4? +73 �>4? (+1,7%) 

�4>?44< >G?LFGD<, E?>DFG F4 FGD<7<G 1 697 �>4? 1 634 �>4? -63 �>4? (-3,7%) 

�4>?44< >E>D>=< 74>D>69O 1 979 �>4? 1 906 �>4? -73 �>4? (-3,7%) 

�4>?44< E>FV4?L=>7> 74E<EFG 452 �>4? 425 �>4? -27 �>4? (-6,0%) 

�%,��� 8 552 �>4? 8 462 �>4? -90 �>4? (-1,1%) 

*��� «�>?5?NL>4» V ��� «'55GD4L>4» =5 ?D4FN64?<. 
 

�V4?>6V4=> 4> DVL5==O <VEL>>W >><VEVW 7 ?<F4=L F5E=>75==>-5>>?>7VG=>W 
557?5>< F4 =4476<G4==<E E<FG4FV= 4VO?< / 5G?< 7>F>6V 4> D>77>DF4==O >E=>6=V 
?G=>F< =57?4<=>EFV G 5G4V6?OE 74>?44V6: 

- ��, �-��� EFG?5=V6 72; 
- %��, �-��� EFG?5=V6 75 V<. �.�. �G74T6EL>>W; 
- ��, �-��� EFG?5=V6 76; 
- �<<FDV6EL>4 ��, �-��� EFG?5=V6. 

�4 6<?44>> 6V4>?NG5=L 5?5>FD>5=5D7VW 6 4>L>V?L=<E =46G4?L=<E 
74>?444E, L>>?4E V 74>?444E >E>D>=< 74>D>69O 5G?< ?5D5454G5=V 
5?5>FD>75=5D4F>D< DV7=>W ?>FG6=>EFV. &4>>6 =4O6=V 46V 46F>=><=V <>4G?L=V 
4<7?4?<6=V >>F5?L=V, O> 465D5?4 D575D6=>7> F5??>?>EF4G4==O, 6 ��� «��� � 
DV6=O <. �>DVL=V �?46=V» (660 >�F) V ��, �-��� EFG?5=V6 72 (295 >�F). 

�DV< FL>7> 6 5N465F=<E GEF4=>64E =4O6=V 465D5?4 6>4>?>EF4G4==O 3 
6>4>745VD=V E65D4?>6<=< 7 DGG=<<< F4 5?5>FD<G=<<< =4E>E4<<: 

- ��, �-��� EFG?5=V6 72; 
- %��, �-��� EFG?5=V6 75 V<. �.�. �G74T6EL>>W; 
- ��, �-��� EFG?5=V6 76; 
- 6<>>=46G<= >><VF5F; 
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- ��� «��� � DV6=O»: 7>?>6=<= >>D?GE. 
�D4FV6=<>< �� «$5<5G4E5D6VE» ?D>FO7>< >?4?N64?L=>7> ?5DV>4G 2023-

2023 D>>V6 ?V4FD<<G64?< =4?56=<= EF4= V=65=5D=<E <5D56 6 5N465F=<E 
GEF4=>64E. %?<D4NG<EL =4 4>E6V4 ?>?5D54=VE D>>V6, =4 ?V47>F>6>G 4> 
>?4?N64?L=>7> E57>=G 2023-2024 D>>V6 74??4=G64?<: 

- 6<?D>5G64==O E<EF5< >?4?5==O V ?V47>F>6>4 ?4E?>DFV6 7>F>6=>EFV 5G4V65?L 
4> >?4?N64?L=>7> ?5DV>4G 3 55 >4.; 

- ?D><<64==O E<EF5< >?4?5==O 3 8 5G4V65?L; 
- =4?47>465==O D56<<V6 D>5>F< �&� 7 6D4EG64==O< D>5>F< 74>?44V6 G 

D>5>GV, 6<EV4=V V E6OF>>6V 4=V 3 12 >4.; 
- ??4=>65 F5E=VG=5 >5E?G7>6G64==O V=65=5D=<E <5D56. 

� FV?><G �� �'��� G 7<<>6<= ?5DV>4 6V4?D4FN64?> 744>6V?L=> V 7 
>E=>6=<< 74644==O< ?> 74557?5G5==N E?>6<64GV6 O>VE=<<< ?>E?G74<< 
F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 6>4>6V46545==O 6?>D46EO. 

' 7<<>6<= ?5DV>4 =5 5G?> 4>?GM5=> =V >4=VTW 464DV==>W E<FG4FVW, O>4 5 
E?D<G<=<?4 ?D<?<=5==O =444==O ?>E?G7 7 F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 
6>4>6V46545==O ?>=44 6EF4=>6?5=V ?D46<?4<< F5D<V=<.  

�?O 557?5D55V==>W D>5>F< F4 G4>E>>=4?5==N D>5>G>7> ?D>F5EG, 7 <5F>N 
7<5=L5==O 464DV==<E E<FG4FV= ?V4?D<T<EF6>< 6?D>64465=> DO4 74E>4V6: 

- -  ?V47>F>6>4 6>4>?D>6V4=<E F4 >4=4?V74FV==<E <5D56 (?D><<6>4/>G<EF>4) 
4> >?4?N64?L=>7> ?5DV>4G 2023-2024 DD.; 

- -  ?D<454=> F4 6EF4=>6?5=> =4E>E=5 >5?44=4==O;  
- -  74<V=4 6>4>?D>6V4=<E <5D56 <VEF4 - 1,0308 >< =4 EG<G 1362,37 F<E. 7D=.;  
- -  ?D<454=4 F4 6EF4=>6?5=4 74?VD=4 4D<4FGD4 =4 6>4>?D>6V4=<E <5D564E 

<VEF4 F4 
-    >4=4?V74FV==<E =4E>E=<E EF4=FVOE  6 >V?L>>EFV  28 LF. =4 EG<G 47,54 F<E. 

7D=.  
�4=V 74E>4< ?>7<F<6=> 6??<=G?< =4 7<5=L5==O >V?L>>EFV 464DV= =4 

6>4>?D>6V4=<E F4 >4=4?V74FV==<E <5D564E <VEF4 6 ?>DV6=O==V 7 <<=G?<<< 
D>>4<<. 

�<>>=4=4 ?5D56VD>4 F5E=VG=>7> EF4=G 169 ?>656=<E 7V4D4=FV6 F4 ?D>6545=> 
GEG=5==O =54>?V>V6. �EF4=>6?5=> 11 ?>656=<E 7V4D4=FV6 =4 EG<G 91,62 F<E.7D=.  

�D>FO7>< 6EL>7> >?4?N64?L=>7> ?5DV>4G 2023-2024 D.D. =4 ?V4?D<T<EF6V 
EF6>DN646EO =5>5EV4=<= 74?4E D5475=FV6: 

- - 7V4D>>E<E?>D<4 4?N<V=VN (������-40, ������-68) 3 66,52 F; 
7474?L=>N 64DFVEFN 2 328,20 F<E. 7D=; 

- - 4V>>E<4 E?>DG 3 17,104 F; 7474?L=>N 64DFVEFN 510,97 F<E. 7D=; 
- - 7V?>E?>D<F =4FDVN 3 2,58 F; 7474?L=>N 64DFVEFN 108,36 F<E. 7D=. 
- - E?>D DV4><= 3 11,4 F; 7474?L=>N 64DFVEFN 826,50 F<E. 7D=. 

�?O 74557?5G5==O =5>5EV4=<E F5<?5D4FGD=<E D56<<V6 =4 >5`T>F4E 
6>4>>G<E=>W EF4=FVW 5G?> ?D<454=> 6G7V??O <4D>< �� 6 >V?L>>EFV 3 200 F. =4 
EG<G 1800,00 F<E. 7D=. 
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�� «%?5F�>>» 4?O D>7G<M5==O 6V4 E=V7G F4 5>D>FL5G 7 >65?54<F5N G 
7<<>6<= ?5DV>4 2023-2024 D>>V6 744VO?> E?5FF5E=V>G 6 >V?L>>EFV 16 >4<=<FL. �4 
F5= ?5DV>4 F5E=V>4 6V4?D4FN64?4 1 823 <4L<=>/7>4<=, 7 O><E D>7G<M5==O 6V4 
E=V7G 4>DV7, FD>FG4DV6, 7G?<=>>, 6=GFDVL=L>>64DF4?L=<E ?D>W74V6 E>?4?> 
1 498 <4L./7>4, 4 D>7E<?4==O ?D>F<>65?54=<E <4F5DV4?V6 3 325 <4L./7>4<=.  

�D>FO7>< 6EL>7> >EV==L>-7<<>6>7> ?5DV>4G 4?O ?>E<?4==O FD>FG4DV6 F4 
?D>W7=<E 4>DV7 7D><44<, ?V4 G4E >65?54<FV, ?V4?D<T<EF6>< 5G?> 6<>>D<EF4=> 
E?5FV4?L=>W EG<VLV 603,96 F (523,66 F ?VE>G F4 5?<7L>> 80,3 F E>?V), 4000 ? 
5VL>DVFG.  
 �?O D>7G<M5==O F4 ?>E<?4==O 4>DV7 6 EF4D>EF<=EL><E >>DG74E 
�>DVL=L>??46=V6EL>>W <VEL>>W F5D<F>DV4?L=>W 7D><44<, >DV< F5E=V>< 
�� «%?5F�>>», 5G?> 744VO=> F5E=V>G �� «�75=FEF6> <VEF56<E 4>DV7 
�>?F46EL>>W >5?4EFV», �D�& «���&��%,��� ���» F4 D5D<5DEL><E 
7>E?>44DEF6. 

�D< ?D>6545==V D>5VF 6<>>D<EF>6G64?<EO 74E>5< GPS >>=FD>?N, O><<< 
>5?44=4=> 15 >4<=<FL >><G=4?L=>W F5E=V><. %<EF5<4 GPS-=46V74FVW ?D4FNT G 
LF4F=><G D56<<V, =5E?D46=>EFV GEG64NFLEO G =4=>>D>FLV F5D<V=<. �464O>< 
E<EF5<V 6V4E?V4>>6GTFLEO D>5>F4 >><G=4?L=<E ?V4?D<T<EF6 6 D56<<V D54?L=>7> 
G4EG. 
 %<EF5<4 6V45>E?>EF5D565==O G <VEFV ?D4FNT 744?O 557?5>< 4>D>6=L>7> 
DGEG F4 4>?><474T EF56<F< 74 E>4>< ?D>6545==O D>5VF ?> GFD<<4==N 6G?<G=>-
4>D>6=L>W <5D56V.  
 

�D< ?V47>F>6FV 4> ?D>E>465==O >EV==L>-7<<>6>7> ?5DV>4G 
�� «�VEL>E6VF?>» 6<>>=4?> DO4 74E>4V6 =4 7474?L=G EG<G 5?<7L>> 
1500 F<E. 7D=. 
 �D>FO7>< E57>=G =4 ?>F>G=5 GFD<<4==O 7>6=VL=L>7> >E6VF?5==O 
6<FD4G5=> 4 773,7 F<E 7D=., >V?L>VEFL E?>6<F>W 5?5>FD<G=>W 5=5D7VW EF4=>6<FL 
180 964 >�F;7>4 =4 EG<G 1461,3 F<E. 7D=. 
 '5D57 ?>L>>465==O 5?5>FD><5D56 6=4E?V4>> 6>D>6<E >5EFDV?V6 4?O 
74557?5G5==O 54?4=EG 6 5=5D7>E<EF5<V 4> 6EVE >5?4EF5= '>D4W=< 5G?< 4>6545=V 
?V<VF< E?>6<64==O 5?5>FD<G=>W 5=5D7VW. '5D57 5D4> ?>FG6=>EF5= 7 20 ?<EF>?444 
2023 D>>G ?> F5?5DVL=V= G4E 6G?<G=5 >E6VF?5==O <VEF4 =5 ?D4FNT ?V4 G4E 
>><5=44=FEL>>W 7>4<=<. 
 
  �5D56575==O 46F>5GE=<<< <4DLDGF4<< <VEF><, ?V4 G4E E>?>4=>W ?>D< 
D>>G ?D>E>4<?< 557 75>W6, <5L>4=FV <VEF4 <4?< 7<>7G 6G4E=> 4>5<D4F<EO 4> 
D>5>F< F4 4><G. �464O>< >?5D4F<6=V= D>5>FV �� «%?5F�>>» 46F>5GE=V 7G?<=>< 
F4 >4D<4=< 4?O ?V49W74G 46F>5GEV6 6G4E=> >G<MG64?<EL 6V4 E=V7G F4 ?L>4G.  
  �5D56575==O =4 <VEL><E 46F>5GE=<E <4DLDGF4E 7474?L=>7> >>D<EFG64==O 
74V=E=NT �� «%?5F�>>», �� «�V45D �6F>», &�� «����$» F4 $�� �?5=<L>=>6  
'EV 46F>5GE< 44=<E ?5D56V7=<>V6 >5?44=4==V E<EF5<>N >?4?5==O, F><G 
?5D56575==O G 7<<>6<= ?5DV>4 G4EG 5G?< >><D>DF=<<<. '4EF>>6> 5G?> >=>6?5=> 
?4D> 46F>5GEV6 =4 EGG4E=V 7 46<7G=4<< >?4EG 6<><4V6 �6D> 3 4 V �6D> 3 5.  
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��. �?4=< F4 74E>4< 6<F?>6>->><G=4?L=<E ?V4?D<T<EF6 <VEF4 M>4> 

?V47>F>6>< 4> =4EFG?=>7> >?4?N64?L=>7> ?5DV>4G 2024-2025 D>>V6. 
 

�V4?>6V4=> 4> �>EF4=>6< ��' 7590 6V4 09.06.2021(7V 7<V=4<< 7 335 6V4 
18.04.2023) �5D646=4 >47=4G5=EL>4 E?G654 '>D4W=< 6<>>=GT E6>W ?>6=>6465==O 
6 >E>5?<6><G D56<<V, O><= >5<56GT 6<>>D<EF4==O >>LFV6.  

�DV>D<F5F ?D>6545==O ??4F56V6 6V444TFLEO ?D<7=4G5==O<: 
- ?V47>F>6>4 >59T>FV6 4> >?4?N64?L=>7> E57>=G F4 74E>4< 7 

5=5D7>755D565==O; 
- 6<>>=4==O D>5VF 7 5G4V6=<FF64, D5>>=EFDG>FVW, D5<>=FG F4 

5>E??G4F4FV==>7> GFD<<4==O 6G?<FL V 4>DV7 >><G=4?L=>W 6?4E=>EFV 6 
=4E5?5=<E ?G=>F4E; 

- GFD<<4==O <5D56 7>6=VL=L>7> >E6VF?5==O; 
- >??4F4 6<44F>V6 V7 5?47>GEFD>N =4E5?5=<E ?G=>FV6; 
- ?D<454==O E?5FV4?V7>64=>W F5E=V><; 
- >??4F4 D<FG4?L=<E ?>E?G7; 
- 6V4L>>4G64==O DV7=<FV 6 F4D<D4E =4 ?>E?G7< F5??>-, 6>4>?>EF4G4==O 

(6>4>6V46545==O). 
 
$>5>F< ?> ?V47>F>6FV 6<F?>6>7> D>=4G 5G4GFL 6<>>=G64F<EO 74 D4EG=>> 

=44E>465=L 6V4 >??4F< ?>E?G7 ?> GFD<<4==N 5G4<=>V6 V ?D<5G4<=>>6<E 
F5D<F>DV=. �> F<E D>5VF 6V4=>E<FLEO: 

- ?D><<64==O 6=GFDVL=L>5G4<=>>6<E E<EF5< >?4?5==O; 
- D56V7VO 74?VD=>W 4D<4FGD<; 
- 4DV5=V D5<>=F< 6=GFDVL=L>5G4<=>>6<E <5D56 F4 V=L5. 

�<>>=4==O ?>F>G=<E D5<>=FV6 6<F?>6<E 5G4<=>V6 F4 ?D>6545==O V=L<E 
F5E=>?>7VG=<E 74E>4V6 (D56V7VO 74?VD=>W 4D<4FGD<, ?D><<6>4 E<EF5< >?4?5==O, 
7V4D46?VG=V 6<?D>5G64==O F4 V=L5) ?> ?V47>F>6FV 5G4<=>V6 5G45 ?D>6>4<F<EO 
77V4=> 74F65D465=<E 7D4DV>V6. �>F>6=VEFL 5G4<=>V6 4> D>5>F< 6 >?4?N64?L=<= 
E57>= 5G45 >D>D<?OF<EO 77V4=> GEF4=>6?5=<E �>FG F4 �4E?>DFG 7>F>6=>EFV. 

�<F?>6>-5>E??G4F4FV==<< ?V4?D<T<EF64< <VEF4 ?D>4>66<F< D>5>FG: 
?D>6545==O V=D>D<4FV==>-D>7`OE=N64?L=>W D>5>F< E5D54 =4E5?5==O <VEF4  

M>4> >5>6`O7>V6 F4 ?D46 E?V66?4E=<>V6 5474F>>64DF<D=<E 5G4<=>V6 6V4=>E=> WE 
E?V?L=>W 6?4E=>EFV, 7>>D5<4 4>F<6V74FVW E?V66?4E=<>V6 4> ?D>6545==O 
>4?VF4?L=<E D5<>=FV6 5G4<=>V6, 6 F><G G<E?V V =4 G<>64E E?V6DV=4=EG64==O 
(<VEL><= 5N465F + >>LF< E?V66?4E=<>V6); 

     ?> ?D>6545==N 75>DV6 E?V66?4E=<>V6 5G4<=>V6 M>4> GG4EFV 6 ?D>6545==V 
>4?VF4?L=<E D5<>=FV6 74 4>?><>7>N  «�D>7D4<< ?V4FD<<>< E?V66?4E=<>V6 
5474F>>64DF<D=<E 5G4<=>V6 <. �>DVL=V �?46=V =4 2023-2026 D>><»; 
- M>4> 4>FV?L=>EFV 6EF4=>6?5==O =4 >?4?N64?L=V ?D<?44< FD<E>4>6<E 
>D4=V6 F4 D57G?OF>DV6 F5<?5D4FGD< 4?O D57G?N64==O >?4?5==O 557?>E5D54=L> G 
>64DF<DV. 
- �E>5?<6G G647G ?D<4V?OF< =444==N V=D>D<4FVW M>4> D5>>=EFDG>FVW 
E<EF5<< >?4?5==O L?OE>< 6EF4=>6?5==O 46F><4F<7>64=>7> �&�. /> ?>>474?4 
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?D4>F<>4, 6 5G4<=>4E 7 46F><4F<7>64=<< �&� E?>EF5DV74TFLEO 5>>=><VG=<= 
5D5>F 6V4 9% 4> 20% ?> ?>E?G7V 7 F5??>?>EF4G4==O. 

�?O E?D<O==O 6?D>64465==O E?V66?4E=<>4<< 5474F>>64DF<D=<E 5G4<=>V6 
74E>4V6 7 5=5D7>755D565==O F4 DV=4=E>6>W ?V4FD<<>< V=VFV4F<6 E?V66?4E=<>V6 G 
2024 D>FV ?D>4>66GT 4VOF< «�D>7D4<4 ?V4FD<<>< E?V66?4E=<>V6 
5474F>>64DF<D=<E 5G4<=>V6 �>DVL=L>??46=V6EL>>W F5D<F>DV4?L=>W 7D><44< =4 
2023-2026 D>><». �D>7D4<>N 6<7=4G5=> % 4>?L>6>W GG4EFV EF>DV= (<VEL><= 
5N465F + E?V66?4E=<><) G >4?VF4?L=><G D5<>=FV 5G4<=>G, 6 F><G G<E?V =>7> 
F5E=VG=5 ?5D5>E=4M5==O. �V4E>F>> 4>?L>6>W GG4EFV >>6=>W V7 EF>DV= 74?56<FL 6V4 
6<4G D>5VF 7 >4?VF4?L=>7> D5<>=FG 5G4<=>G (70/30, 50/50, 30/70).  

�4=4 �D>7D4<4 EF>EGTFLEO 6EVE E?V66?4E=<>V6 5474F>>64DF<D=<E 5G4<=>V6, 
=574?56=> 6V4 D>D<< G?D46?V==O 5G4<=>>< (EF6>D5==O �%�� G< 74?GG5==O 
G?D46<F5?O). �?4=>65 DV=4=EG64==O 74 ?D>7D4<>N =4 2024 DV> 6<7=4G5=> 6 
>5EO7V 1,000 <?=. 7D=.   

 
� D5<>=FG 6G?<G=>-4>D>6=L>W <5D56V <VEF4 74??4=>64=> 6<>>=4F< 

?>F>G=<= D5<>=FG 6G?<FL V 6=GFDVL=L>>64DF4?L=<E ?D>W74V6, FD>FG4DV6 (G F. G. 6 
EF4D>EF<=EL><E >>DG74E) >5EO7>< 3 15 928 <2 4ED4?LF>6>7> ?>>D<FFO. �DV< F>7> 
D5<>=F 4>DV7 7 M555=56<< ?>>D<FFO< 80 000 <2. 

�> ?>G4F>G 7<<>6>7> ?5DV>4G G 2024 D>FV, >>DV< D>5VF ?> ?>F>G=><G 
GFD<<4==N, ??4=GTFLEO  7465DL<F< D>5>F< 7 <4ELF45=>W D5>>=EFDG>FVW 6G?<FV 
�<DG, O>V D>7?>G4?<EO G 2021 D>FV F4 5G?< ?D<7G?<=5=V G5D57 66545==O 
6>T==>7> EF4=G 6 '>D4W=V.  

'5D57 66545==O 6>T==>7> EF4=G 6 >D4W=V, =44E>465==O 4> 5N465FG 
7D><44< 7=4G=> E>>D>F<?<EO, 4 >F65 V 6<44F>< F4>>6. �> F>7> 6 �5D646=4 
>47=4G5=EL>4 E?G654 '>D4W=< 6<>>=GT E6>W ?>6=>6465==O 6 >E>5?<6><G D56<<V, 
O><= >5<56GT 6<>>D<EF4==O >>LFV6 =4 ?D>6545==O 5G4V6=<FF64, D5>>=EFDG>FV= 
F4 >4?VF4?L=<E D5<>=FV6. &4><< G<=><, ?<F4==O 6?D>64465==O 4>44F>>6<E 
74E>4V6 7 D5<>=FG 6G?<G=>-4>D>6=L>W <5D56V 5G45 6<DVLG64F<EO ?VE?O 
EF6>D5==O G<>6 M>4> <>6?<6>EFV WE D54?V74FVW, 74 =4O6=>EFV DV=4=E>6>7> 
74557?5G5==O. 
 
 
 
�<D5>F>D �5?4DF4<5=FG ���                                                �5FD> ��%��.� 
 
 
 
 
 
 
�>L4D4 
�V=GG> 
�5>?N4>64 
$G54= 
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�>44F>>  
4> DVL5==O 6<>>=>><G 
�>DVL=L>??46=V6EL>>W <VEL>>W D44<  
14.05.2024 7 181 

 
 

��%��� 
?> ?V47>F>6FV 6<F?>6>-5>E??G4F4FV==<E V >><G=4?L=<E ?V4?D<T<EF6 

 <VEF4 4> D>5>F< 6 >?4?N64?L=<= ?5DV>4 2024-2025 D>>V6 
 

7 
?/? 

�4=<5=G64==O 74E>4G 
 

�4<=<FO 
6<<VDG 

�5EO7 
D>5VF 

�4DFVEFL 
F<E. 7D=. 

1 2 3 4 5 

 
�<F?>6<= D>=4 

�4 D4EG=>> 6=5E>V6 E?V66?4E=<>V6 74 G?D46?V==O 5474F>>64DF<D=<< 5G4<=>>< 

1. �D><<64==O E<EF5< >?4?5==O 5G4<=>V6 48 77,0 
2. �>F>G=<= D5<>=F ?>>DV65?L V7 DG55D>=4G 5G4/<2 68/690 189,0 
3. �4<V=4 FDG5 5G4/?.<. 135/2140 561,0 
4. $56V7VO 74?VD=>W 4D<4FGD<, 6 F><G G<E?V:    
 - E>?>4=>7> 6>4>?>EF4G4==O 5G4/LF. 180/2017 88,0 
 - 74DOG>7> 6>4>?>EF4G4==O 5G4/LF. 155/1801 129,0 
 - >?4?5==O 5G4/LF. 165/3217 150,0 
 - 74<V=4 65=F<?V6, 74EG6>> 5G4/LF. 169/528 268,0 

5. �474?L=>-5G4V65?L=V D>5>F<, 6 F><G G<E?V:    

 - D5<>=F 6<<>M5=L =46>>?> 5G4<=>V6 <2 230 63,0 
 - D5<>=F F>>>?V6 <2 235 37,5 

6. �4>D<FFO 5?564F>D=<E 6G7?V6 LF. 170 11,0 
7. 'F5??5==O 6<F?>6<E 5G4<=>V6, 6 F><G G<E?V:    
 - D5<>=F 465D5= 5G4/LF. 68/86 45,0 

 - E>?V==O 6V>>= 5G4/<2 80/132 27,5 
8. �>F>G=<= D5<>=F ?>>DV65?L V7 L<D5DG 5G4/<2 3/10 6,0 
9. �>F>G=<= D5<>=F >>7<D>V6 5G4/LF. 22/38 61,0 

10. �7>?OFVO FDG5>?D>6>4V6 5G4/?.<. 31/740 38,0 
11. �=LV D>5>F< (D5<>=F 6<E>4V6 =4 ?>>DV6?V, 

D4D5G64==O 747>?D>6>4V6, ?D>6545==O >7?O4V6, 
D57G?N64==O E<EF5< F5??>, - 6>4>?>EF4G4==O, F>M>) 

F<E. 7D=.  1 046,0 

 �EL>7>  204 5G4 2 797,0 

  
��� «&�» <. �>DVL=V �?46=V» 

�. �4?VF4?L=<= D5<>=F >>F5?L=>7> >5?44=4==O   

F4 F5??>6<E <5D56 74 D4EG=>> 4<>DF6V4D4EG64=L F4 6?4E=<E >>LFV6  
1. $5<>=F >5?44=4==O F4 FDG5>?D>6>4V6 >>F5?5=L, �&�, 

&&� 
- - 131,0 

2. $5<>=F 5?5>FD>>5?44=4==O F4 ?D<?44V6 ��� V � 
>>F5?5=L, E<EF5< >5?V>G F5??>=>EVO, E<7=4?V74FVW  

- - 100,0 
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1 2 3 4 5 

3. �V4=>6?5==O 4>D>6=L>7> ?>>D<FFO ?VE?O D5<>=FG 
F5??>6<E <5D56 

<3 �> 
D4>FG 

200,0 

4. �4?VF4?L=<= D5<>=F ?>>DV6?V F4 >>=EFDG>FV= 
?D><<E?>6<E 5G4V65?L 

<2 �> 
D4>FG 

50,0 

5.  $5<>=F 46F>FD4=E?>DFG F4 <5E4=V7<V6 
 

 �> 
D4>FG 

40,0 

 �EL>7> ?> � D>74V?G: 
 

  521,0 

��. $5>>=EFDG>FVO >>F5?L=>7> >5?44=4==O F4 F5??>6<E <5D56 

74 D4EG=>> >4?VF4?L=<E 6>?445=L 
1. �4<V=4 4V?O=>> FDG5>?D>6>4V6 >?4?5==O V7 

74EF>EG64==O< EF4?56<E ?>?5D54=L> V7>?L>64=<E 
FDG5, G 46>FDG5=><G 6<<VDV 

>< 0,461 6 500,0 

2. �4<V=4 4V?O=>> FDG5>?D>6>4V6 74DOG>7> 
6>4>?>EF4G4==O 7 74EF>EG64==O< FDG5 7 
F5D<>EF45V?V74FV==>7> <4F5DV4?G 

>< 0,654 3 360,0 

3. �4<V=4 =4E>EG ?V46<6?NNG>7> 72 F<?G � 80-50-200 
V=6. 7 420334900 =4 =4E>E 7 =4EFG?=<<< 
E4D4>F5D<EF<>4<< Q = 80 <³/7>4, H = 50 <. 6>4. EF.,  
N = 15 >�F %�� >>F.�=.31 

LF. 1 100,0 

4. �4<V=4 =4E>EG 464DV==>7> ?V46<6?5==O 72 F<?G  
� 80-65-160 V=6. 7420335200 =4 =4E>E 7 =4EFG?=<<< 
E4D4>F5D<EF<>4<< Q = 50 <³/7>4, H = 32 <. 6>4. EF.,  
N = 7,5 >�F =4 ��% >>F. �=.31 

LF. 1 100,0 

5. �D<454==O 46F><>5V?O ?57>>6>7> RENAULT 
EXPRESS 

LF 1 655,0 

6. �D<454==O FD4>F>D4 �ATA KB 504 LF 1 690,0 
7. �=>6?5==O >5?44=4==O 46F><4F<>< 557?5>< >>F?4 

��� 72 
LF 1 80,0 

8. $5>>=EFDG>FVO �%' &&� 12 <>D-=G LF. 1 320,0 
9. $>7D>5>4 ��� =4 D5>>=EFDG>FVN &&� 15 7 74<V=>N 

74EF4DV?<E F5??>>5<V==<>V6. 
LF 1 150,0 

10. $5>>=EFDG>FVO >>F5?L=V <V>D>D4=>=G �>?>F=<L<=> LF. 1 2 500,0 
 �EL>7> ?> �� D>74V?G 

 
  14 455,0 

���. �=65EF<FV==V ?D>5>F<, ?5D5454G5=V V=65EF<FV==>N ?D>7D4<>N  

V DV=4=EGNFLEO 74 D4EG=>> ?D<5GF>G 
1. �EF4=>6?5==O 5G4<=>>6<E 6G7?V6 >5?V>G 74DOG>W 

6>4< 
LF. 15 2 000,0 

 �EL>7> ?> ��� D>74V?G 
 

  2 000,0 

IV. �=65EF<FV==V ?D>5>F<, E?DO<>64=V =4 5=5D7>755D565==O V DV=4=EGNFLEO  

�4 D4EG=>> 5N465F=<E >>LFV6 V >>LFV6 V=65EF>D4 
1. $5>>=EFDG>FVO 5G4V6?V F5=FD4?L=>W >?4?N64?L=>W 

>>F5?L=V 7 6EF4=>6?5==O< >>F?4 =4 5V>?4?<6V 
?>FG6=VEFN 7 ��F 7V 7<V=>N 75><5FD<G=<E D>7<VDV6 
F4 5G4V6=<FF6> E>?44G ?4?<64 ?> ?D>6G?>G 
�=5D75F<>V6,31 6 <. �>DVL=V �?46=V �>?F46EL>>W 
>5?4EFV (?D>4>665==O D>5VF). 

LF. 1 16 000,0 

 �EL>7> ?> �V D>74V?G   16 000,0 
 $����   32 976,0 
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1 2 3 4 5 

 
�<D>5=<G5 G?D46?V==O 6>4>?D>6V4=>->4=4?V74FV==>7> 7>E?>44DEF64 

1. �5D57>64 =4E>E=4 EF4=FVO    
- ?D><<6>4 F4 E?>DG64==O FDG5>?D>6>4V6 6<EV4=>W 
6>4< 71, 72 �G720 << 

LF. 2 15,07 

2. �V4EFV==<><    
- ?D><<64==O, G<EF>4 >4<5D ??4EFV6F5GF6>D5==O 
E5>FV= 6V4EFV==<>V6 71, 72  

LF. 6 25,87 

3. �>F5?L=O    
- ?D<454==O 6G7V??O <4D>< �� F 200 1 800,0 
- D5<>=F F4 G4EF>>64 74<V=4 F5??><5D56V < 35 4,16 
- 764DN64?L=V D>5>F< =4 >>F?4E, L?4>?N64==O 
>5<GDG64==O >>F?V6 

LF. 3 6,95 

- 74<V=4 74EG6>> =4 F5??>FD4EV LF. 1 9,05 
- G<M5==O 4<<>E>4V6 <³ 3 1,43 

4. $V?LFDG64?L=<= 74?    

- 74<V=4 74EG6>> =4 ?>6V?L=<E DV?LFD4E LF. 6 125,31 
5. %?>D4F>D=4    

- ?D><<6>4 FDG5>?D>6>4V6 E?>D>64=>N 6>4>N ?.<. 300 3,14 

- ?D>4G6>4 E?>D>?D>6>4G 47>F>< ?.<. 70 3,20 
 - ?D<454==O =4E>EG 4?O ?5D5>4GG64==O D5475=FV6 LF. 1 12,0 

6. %F4=FVO >55774?V7=5==O    

- 74<V=4 6V>>= =4 <5F4?>??4EF<>>6V (>>D<4>D, 
?45>D4F>DVO, >V<=4F4 ?D<=><G W6V) 

<² 14,63 32,33 

7. $575D6G4D<    

 - ?D><<6>4 $'� V=7000 <³ 71, 72 LF. 2 24,49 
 - ?D><<6>4 D575D6G4D4 ?D><<6=<E 6>4  V=500 <³ LF. 1 24,50 

8. �V?L=<FO «�VEL>V <5D56V 6>4>?>EF4G4==O»    

- 747>FV6?O <4F5DV4?G 4?O ?>E<?4==O <3 40 16,0 

- ?D><<64==O 6>4>?D>6V4=<E <5D56 <VEF4 ><. 6 4,02 

- G<EF>4 >>?>4O7V6 V >4<5D =4 <VEL><E 6>4>?D>6V4=<E 
<5D564E, D56V7VO 74?VD=>W 4D<4FGD< 

LF. 50 38,79 

- 74<V=4 ?N>V6 LF. 25 35,00 

- ?D><<6>4 $'� V=3000 <³ LF. 1 8,94 

- D5>>=EFDG>FVO 65=F<?OFV==>W E<EF5<< =4 ��% 723 ?.<. 18 5,2 
- 74<V=4 ?>656=<E 7V4D4=FV6 LF. 5 50,54 

9. �V?L=<FO «�VEL>V <5D56V 6>4>6V46545==O»    

- 747>FV6?O <4F5DV4?G 4?O ?>E<?4==O <3 20 8,0 

- G<EF>4 6V4 >>D5=V6 V 5DG4G >4=4?V74FV==<E 
>>?>4O7V6 V ?D><<64==O >4=4?V74FV==<E <5D56 

LF. 1837 362,35 

- D56V7VO 74?VD=>W 4D<4FGD< ?> ��% : 1�, 8, 9, 10, 13, 
14, 15, 16, 17, 18, 19, 20, 21,22,23,24 

LF. 120 21,83 

- D5<>=F >4=4?V74FV==<E >>?>4O7V6 <VEF4  LF. 15 60,64 

- GF5??5==O 6>DVF 6 ?D<<VM5==V 7D455?L=>7> 
7>E?>44DEF64 =4 ��% 79 

<² 4,0 4,52 

- 74<V=4 =4E>E=<E 47D574FV6  =4 ��% 7710,14, 15 LF. 3 140,83 

- 74<V=4 74?VD=>W 4D<4FGD< =4 ��% 771-�, 9, 13, 14 LF. 5 45,23 

- 74<V=4 65=F<?OFV==>W E<EF5<< =4 ��% 78, 1-� LF. 2 23,65 
 - 74<V=4 76>D>F=>7> >?4?4=4  =4 ��% 714 

 
LF. 2 22,09 
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1 2 3 4 5 
10. �V?L=<FO «�4=4?V74FV==V >G<E=V E?>DG4<»    

- 747>FV6?O <4F5DV4?G 4?O ?>E<?4==O <3 24 9,5 

- G<M5==O 3-E F5??>>5<V==<>V6 E<EF5<< F5??>6<E 
=4E>EV6 =4 45D>4>E5?4F>D4E 

LF. 2 7,43 

- F5E=VG=5 >5E?G7>6G64==O F4 D5<>=F F5??>6<E 
=4E>EV6 

LF. 2 50,0 

- D5<>=F ?>>DV6?V 5G4V6?V <² 332 300,0 
11. �4<V=VEFD4F<6=>-7>E?>44DEL>4 4V?L=<FO    

- 747>FV6?O  <4F5DV4?G 4?O ?>E<?4==O <³ 25 10,0 

- D5>>=EFDG>FVO 65=F<?OFV==>W E<EF5<< <4=EF5D=V < 6 4,50 
12. �64DV==>-4<E?5FG5DEL>4 E?G654    

- ??4=G64==O �DG=FG ?VE?O GEG=5==O 464DV==<E 
E<FG4FV= 

<² 110 60,5 

- 5?47>GEFDV= F4 6V4=>6?5==O 4/5 ?>>D<FFO, 
>G5D=5==O ?VE?O 6<>>=4==O 75<?O=<E D>5VF 

<² 110 80,30 

13. �6F>FD4=E?>DF=4 4V?L=<FO    

- ?V47>F>6>4 F4 ?5D56545==O =4 7<<>6V G<>6< 
5>E??G4F4FVW FD4=E?>DF=<E 74E>5V6  

>4. 28 21,0 

- >G<M5==O E5?F<>G 6V4 >?44V6 F4 <G?G LF. 2 6,68 
 �EL>7> 

 

  3 485,04 

 
�� «%?5F�>>» 

1. �>F>G=<= D5<>=F 6=GFDVL=L>->64DF4?L=<E ?D>W74V6 <² 7 070,0 7 775,0 
2. �>F>G=<=(O<>>6<=) D5<>=F 4>DV7 <² 7 333,0 10 999,0 
3. �>F>G=<= D5<>=F FD>FG4DV6 <² 1 525,0 1 450,0 
4. �4?<6>4 L6V6 <.? 2 500,0 86,0 
5. $5<>=F 4>DV7 7 M555=56<< ?>>D<FFO< <² 80 000,0 2 000,0 
6. �V47>F>6>4 E?5FV4?V7>64=>W F5E=V>< >4. 17 3 
7. �EF4=>6?5==O 4>D>6=VE 7=4>V6 LF. 100 300,0 
8. �V4=>6?5==O 4>D>6=L>W D>7<VF>< <² 2 350,0 690,0 
9. �47>FV6?O <4F5DV4?G 4?O ?>E<?4==O, G F><G G<E?V:    
 - EV?L F=. 96,0 500,0 
 - ?VE>> F=. 480,0 3 

10. �D>G<M5==O 7?<6>6>W >4=4?V74FVW (FDG5>?D>6>4<, 
7?<6>?D<=<4GV) 

>4. 644,0 951,0 

 �EL>7> 
 

  24 751,0 

 
�� «�VEL>E6VF?>» 

1. �E6VF?5==O    
1.1. $4D5G64==O 74?V7>55F>==<E V <5F4?56<E >?>D F4 

>D>=LF5==V6 (?> <VEFG). 
LF. 980 240,0 

1.2. �7?O4 F4 D5<>=F >455?L=<E ?V=V=. >< 38 263,6 
1.3. $5<>=F F4 >5E?G7>6G64==O L4D G?D46?V==O 

6G?<G=<< >E6VF?5==O<. 
LF. 64 260,0 

1.4. �G<M5==O 5?5>FD><5D56 6V4 7V?>> F4 =4><4V6. >< 49,3 118,5 
1.5. �4<V=4 5=5D7>755DV74NG<E ?4<? 6 %EV4=><G V 

�<<FDV6EL>><G EF4D>EF<=EL><E >>DG74E. 
LF. 1240 250,0 

1.6. �4<V=4 5=5D7>755DV74NG<E ?4<? <. �>DVL=V �?46=V 
 

LF. 620 130,0 
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�<D5>F>D �5?4DF4<5=FG ���                                                �5FD> ��%��.� 
 

1 2 3 4 5 
1.7. �4<V=4 F4 D5<>=F E6VF?>4V>4=<E E6VF<?L=<>V6 

<. �>DVL=V �?46=V. 
LF. 30 60,0 

1.8. �4<V=4 L4D G?D46?V==O 6G?<G=<< >E6VF?5==O< 6 
%EV4=><G EF4D>EF<=EL>><G >>DG7V (E. %>?>L<=>). 

LF. 1 20,0 

1.9. �EF4=>6?5==O F5D<V=4?V6 G?D46?V==O 6G?<G=<< 
>E6VF?5==O<. 

LF. 1 60,0 

1.10 �EF4=>6?5==O ?VG<?L=<>V6 >5?V>G 5?5>FD<G=>W 
5=5D7VW 6 �<<FDV6EL>><G EF4D>EF<=EL>><G >>DG7V.  

LF. 3 20,0 

1.11 �5D5FO6>4 4D>FV6. 
 

>< 5,5 120,0 

1.12 �4<V=4 ?V=VW >E6VF?5==O ?> 6G?. �>5D>6>?LEL>>7> 
(?D>6V4 �%-25 =4 %�� 4×16) 

< 420 120,0 

1.13 �4<V=4 ?V=VW >E6VF?5==O ?> 6G?. %FD>=< (?D>6V4 �%-
25 =4 %�� 4×16). 

< 580 160,0 

1.14 �4<V=4 ?V=VW >E6VF?5==O 6 %EV4=><G EF4D>EF<=EL>><G 
>>DG7V (?D>6V4 �%-25 =4 %�� 2×16). 

< 1000 230,0 

2. �EF4=>6?5==O E6VF?>D>D=<E >59T>FV6 
6G?. �>5D>6>?LEL>>7> ��, �-��� EFG?5=V6 73. 

LF. 2 150,0 

3. �D>6545==O F5E=VG=>7> >7?O4G 4FD4>FV>==>W F5E=V><. 
 

LF. 7 14,0 

 �>=E5D64FVO 4FD4>FV>=V6 V E<EF5<< ?>?<6G. 
 

LF. 10 70,0 

4. �D>6545==O F5E=VG=>7> >7?O4G  46F><>5V?L=<E 
?V4=><=<>V6 

LF. 3 20,0 

 �EL>7> 
 

  2 306,1 

 �%,��� �� ��%���% 
 

  66 315,14 
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